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O 000 main() {inta[3][3],*p,I. p=&amp.a[0][0]. for(i=0.i
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int a[3][2]={0},(*ptr)[2],i,). for(i=0.1 { ptr=a i. scanf("%d",ptr). ptr .
} for(i=0.1{ for(j=0.j printf("-",a[i]{jD. printf("\n"). } } O 0O U O O
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0 A)inta[][3]. B) inta[][3]={2*3}. C) inta[][3]={}. D) int
al2][3]={{1}{2}.{3.4}}. G) U U 00U O0UdO0ugint
c[4][5],C*p)[b] p=c.U 000 0cO OO OO A)yplB)*(p3)
CO*(pl)3D)*(p[0]2)@G) IO OOO int
a[3][2]={1,2,3,4,5,6,},*p[3]. p[0]=a[1]. U *p[0] ) O O O O O
OO0 A)a[0][1] B) a[1][0] ©) a[1][1]1 D) a[1][2] (7) L O OO O
O int f(int b[][4]) {int,},5=0. for(j=0.j { i=}. if(i>2) 1=3-}. s =b[i][]].
} returns. } main() {int
a[4][4]={{1,2,3,4}{0,2,4,5},{3,6,9,12} {3,2,1,0}}. printf(* %d\n
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